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‘Acxnor 10.1 Consider a polygon with 2n vertices, and identifications of the sides in
pairs, according to any symbol. Show that the quotient space is a closed surface.

OcwpRoTe OTOONTOTE TOAIYWYO UE 2N XOPUPES, XU TUVTIOEIS TWY TAEUPWY TOL avd 500,
oUugwva e onotodrrote oluBoro. Aetlte o1t 0 ywpog Tnhixo etvan ulo xheio T emipdveLa.

‘Aoxnor 10.2 Show that the hexagon with identifications of opposite sides according
to the symbol o 8vya~! 37141 is homeomorphic to the torus.

Aei€te 0Tt 10 €€dYwVo UE TAUTIOES TV ATEVOVTL TAEUP®Y CUPGOVA UE TO GUUSONO
afyat By etvan opotopopgixd pe ) omelpa.

‘Aoxnom 10.3 Consider four vertices, 1, 2, 3 and 4, and the triangles 123 234 341 412.
Check that the conditions for a triangulation are satisfied by these triangles. Apply
the procedure for the construction of the polygon P,. What surface results from the
identifications of the polygon you constructed?

Ocwprote Téooepelc xopuéc 1, 2, 3 xau 4, xou T Tplywva 123 234 341 412. EXéyte ot
XavoToloUyToL oL GUVITXES Yia Vo efvar Tty wvoTofnom emigdvelas. Egopgudote 1 dadixaoio
xATAoXEVTC Tou Tohuywvou Py, TTowd emgdvelo meoxOnTel and Ti¢ TAUTIOES TWV TAEUPWY
TOU TOAUYWYOU TOU XATUCKEUACAUTE"

‘Acxnor 10.4 Consider the 18 triangles

124 236 134 246 367 347
469 459 698 678 457 2359
289 578 358 125 238 135

Construct the icosagon Pig, and find its symbol. Transform the symbol to canonical form
and find what surface results from the identifications of the polygon.

Afdovtor T 18 Tplywva

124 236 134 246 367 347
469 459 698 678 457 259
289 578 358 125 238 135



Kataoxeudote 10 exocdywvo Pig, xou Peelte 1o oluBolo. Metatpédte 10 olufoio o
xovovixt, hopet| xot Peelte mold emipdveld TPOXUTTEL And TIC TAUTIOES TWV TALUPWY TOU
TOAUY@VOU.

‘Acxnor 10.5 Let S and S, be surfaces homeomorphic to the canonical form M, and

N}, respectively, for g, h > 1. What canonical form is homeomorphic to the connected
sum S1#.S557

‘Eotw S1 xaw Sy empdveieg opotopop@ixés e tny xavovixy| wopgpt My xou Nj, aviictoya,
v g, h > 1. Tlowd xovovixr| wopgt| etvar ogologop®ixt| ue Ty S1#Ss;



